


300; 000 km/s or  3.108 m/s. 

n1sin ( 1) = n2 sin( 2)

1   is the angle between the incoming (incident) light and the Normal and 2 is the  angle between 
the outgoing (refracted) light and the Normal. When a light beam comes from a medium with a 
higher index of refraction  and goes to a medium with smaller index of refraction, the beam will be 
move away from the Normal and the refracted angle will be bigger than incident angle. But the 
refracted angle can not be bigger than 900 . If it is, the light will not transfer to second medium and 
will move inside the first one . There will be a maximum limit on the incident angle so as to observe 
refraction which is called critical angle c and above this value the light will not transfer to second 
medium . That is called total internal reflection.
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